Max Marks : 100

ALL INDIA TRADE TEST - 2025 FOR CRAFT
INSTRUCTOR TRAINING SCHEME - ENTRANCE
EXAMS
Trade Name: Cosmetology
Year: 1st Year

Exam Date :
Exam Time :

Note:

1. Tick the correct option out of four alternatives provided
2. All questions carry equal marks (1 Marks each)

3. There is no negative marking

Sr. . . I Negative
QID Question Body and Alternatives Marks Marks

TRADE THEORY

1 What is used to make the nail shape? 1.0 0.00

ARG B AT T b T farepT v fpar s 82

Al : Nail Cutters
BT

A2 : Nail Polishes

e uiferr

A3 : Nail Filers
ENRIELR

A4 : Nail Removers

./ TRADE THEORY

2 What should be done to bring a shine on the/nails of men?

TN & ARG R IHS A & (e S dge?

Al : Shiner
MR

A2 : Top Coat
ey Bl

A3_:Nail Polish

A uifer=

A4 : Cream

TRADE THEORY

3 3 In which disease the nail Plate separates from Nail bed?

T TS o ARG 1 wic T oS W SfeRT 81 Sl 82

Al : Onycholysis
A2 : Onychomycosis

A3 : Onychocryptosis
KIEEA I EaraRE]




4

5

A4 : Paronychia

TRADE THEORY

On which skin area should the massage pressure be kept low?

9 Ta IR TS &1 Ga1d gohl & d1gu?

Al : Oily Skin

izt e

A2 : Dry Skin

A3 : Normal Skin

i e

A4 : Sensitive Skin

TRADE THEORY

What is the lowest mixing of Manicure and Pedicure solution?

IR IR ISR & dia # 1 9ol &1 e

Al : Hydrogen Per Oxide
3 33 S IR AHIRRS

A2 : Ammonia

A3 : Shampoo

A4 : Dettol

feeia

TRADE THEORY

Human nails are made of

TS & ARG b1 (4701 fhdh gRT Biare?

Al : Keratin

A2 : Protein

A3 : Caleium

A4 : Fat

TRADE THEORY

Who makes the roots of nails?

ARG BT STS) BT iU e gl &2

Al : Cuticle

A2 : Tissue

0.00

0.00

0.00




10

10

A3 : Matrix

X

A4 : Lunula

AT

TRADE THEORY

What is the technical name of Petrissage movement?

YSRI Hawe HT q-ie! TH 1 72

Al : Effleurage
A2 : Friction
A3.: Kneading
A4 T'fapotement

TRADE THEORY

Generally, how many coat of nail polish should a Cosmetologist?

ARG T BIVICIANORE B 7d Uiferdl & fbda e o =nfew?

Al :One
Th

A2 : Two

a

A3 : Three

A4 : Four

TRADE THEORY

Which should be removed first.in the manicure and pedicure process?

DR U9 TSI Ulohar & e Uge! fbdieh] g TIfie W

Al : Makeup
63

A2 : NailPolishes

EERIIREY

A3 : Cuticle
A4 : Nail Shaping
= QT

TRADE THEORY

Which type of skin increases the effect of age on a fast?

9 UBR B &= TR I BT THE et § TS 82

Al : Dry
TP

0.00

0.00

0.00




13

14

13

14

A2 : Oily
A3 : Normal
A4 : Sensitive

TRADE THEORY

Which process is used to increase the beauty of the hands?

BT B o=l B TG b 1T DI T ik TRad 31 St 82

Al : Pedicure

A2 : Massage
HATS

A3 : Manicure
A4 : Scrubbing
whfdT

TRADE THEORY
Which part of the body is made beautiful and soft by the pedicure process?

YEIR Ufehan & GRT YRR P fobd 37T BT Yrax T YA ST Sl 82

Al : Hand
BIY

A2 : Feet
A3 : Face

A4 : Hair

TRADE THEORY

What is the second name,of Acne?

T BT GERL A &1 57

Al : Black Head

A2 : White Head
ETE TS

A3 : Pimple
[EEK]
A4 : Milia

TRADE THEORY

What type of skin is moisture less?

fPg TR B @ d T FA DR B




18

19

18

19

Al : Oily

A2 : Dry

A3 : Combination

A4 : Sensitive

What is sweat gland disorder?

We 1Us FEHSHS dIH A 32

Al : Seborrhea

A2 : Anidrosis

A3 : Milia

A4 : Comedone

What is the technical name of Black heads?

AP IS BT -] A1 T 32

Al : Milia

A2 : Acne

A3 : Seborrhea

A4 : Comedone

What is theite;hnical name of White heads?

BSC. IgH BT db-1eh! 1 T 87

Al : Comedone

A2 : Milia

A3 : Acne

A4 : Seborrhea

What is the colour of skin depends on?

TRADE THEORY

TRADE THEQRY',

TRADE THEORY

TRADE THEORY




20

21

22

20

21

22

T B g R AR dar 82

Al : Epidermis

A2 : Melanin

A3 : Dermis

A4 : Hypodermis

When action of vibration is done in massage?

ST B 3 79 § e P ST 22

Al : After Massage
TS & 916

A2 : Before Massage
TS 9 Ugd

A3 : After Cleansing
ERIIEUCICIC

A4 : Any time

it oft

Which tools is used to remove cosmetic?

TRADE THEORY

TRADE THEORY:

e Hi fHbran & fo g SieR &1 uanT fhar Sre?

Al : Filer
LIENRS

A2 : Brush
ERY

A3 : Cutter
PR

A4 : Spatula

Who shou]7d massage?

TS fpg IR &A1 d1feu?

Al : High Fever
A2 : Diabetes
A3 : Oily skin
affgent &b

A4 : Pregnancy
Tt

TRADE THEORY

TRADE THEORY

0.00




23

24

25

26

23

24

25

26

What type of skin allergic problem high?

5T UpR B} = W TS B gHw e gid 82

Al : Dry Skin

A2 : Oily Skin

3ifgel fep

A3 : Combination Skin
A4 : Sensitive Skin

TRADE THEORY
What to do first when starting facials?

HREA T A GHT T8 Uga T 61 12

Al : Scrubbing
pfaT

A2 : Cleansing
A3 : Bleaching
A4 : Apply Pack

_ARADETHEORY

What types of skin are blackheads seen on?

P 359 59 UBR B @dl R W S 87

Al : Dry Skin
&P

A2 : Oily Skin

3Tzl fepa

A3 : Normal Skin

i e

A4 : Sensitive Skin

TRADE THEORY

What language is the massage word taken from?

TS e, S I HIwT 3 forar man g2

Al : Arabic

A2 : Russia
=

A3 : Myanmar
HHER

A4 : Pashto

1.0 0.00
1.0 0.00
1.0 0.00
1.0 0.00




27

28

29

30

27

28

29

30

TRADE THEORY

The word manicure is made up of two words of which language?

IR reg {5 W o &) Treg) § freresr ST 82

Al : Indian
AZ : French
A3 : Latin

A4 : Greek

TRADE THEORY
What is the important part of good posture?

TS TR fp e Heaguif | 82

Al : Successful Businessman

qphd

A2 : Exercise Related Activities

TR  Iefed ufaefact

A3 : Foot Care

e HW

A4 : Body Presentation

T—EABE THEORY

What is the beauty of aesthetic creation?

Tied gy 1 HA1 JUBR &2

Al : Ugly

EaSl

A2 : Unique
A3 : Wasted:
A4 : Good

TRADE THEORY
What design clothes should the ladies with short height?

B e, T Afgast Bl {5y {98 & HUS Us-H =@few?

Al : Vertical Line
IcSIGIES]

A2 : Big Print

CEEL

A3 : Horizontal Line

BIRSIed arsA

1.0 0.00
1.0 0.00
1.0 0.00
1.0 0.00




31

32

33

34

31

32

33

34

A4 : Check Print

What does not include good personality?

ey e | oo Siefer T8l 82

Al : Good Nature

TS AR

A2 : Good Sound
1S a13vs

A3 : Client Satisfaction

ENIES

A4 : Good Posture

€ URER

What is the main function of Esthetician?

TRIARM &1 I H1 7SIl 82

Al : Nail Care
BIRCGICAREEREEIC]

A2 : Writing Beauty Articles
Ied 9§ Heiftrd o

A3 : Skin Maintenance
[CEICIRSERLEIC

A4 : Hair Styling
T H T3 d ST

What does body muscles work smoothly?

1 %3 & AFORET gaRs wud i Byl 82
Al : Cleaning

qIh-

A2 : Dieting

A3 : Meditation
l22IE]

A4 : Exercise
H

What is not important in Cosmetics?
FieAfe & 1 Hgayul gt 82

Al : Expiry Date

A2 : Shop Name
RIMY T AH

TRADE THEORY

TRADE THEORY

~ TRADE THEORY

TRADE THEORY

0.00




35

36

37

38

35

36

37

38

A3 : Brand Name
STUS bl A1H

A4 : Price

TRADE THEORY

How should footwear?

PeditR Y g A

Al : Stylish

A2 : Colourful

A3 : Well Fitted

v fefes

A4 : High Heels

&S eed

TRADE THEORY
What kind of food should we eat to keep the body healthy?

IRR B W TG F 70 8 1 1S =1 1w

Al : Fatty Food

TR HIo

A2 : Oily Food

AT HioH

A3 : Light Meal
BT HIoH

A4 : Balanced Diet

ferd o

TRADE THEORY

Which is the best method to remove excess hair?

SIS 9T 82 B Falaa/far &1 A g2

Al : Bleaching
sfifefT

A2 : Shaving
A3 : Waxing
A4 : Threading

TRADE THEORY

Which skin should be more careful while facial?

g e R BRI B4 99T 31 @ e Ty

A1l : Dry Skin

= @dn

0.00

0.00

0.00




39

40

41

42

39

40

41

42

A2 : Sensitive Skin
i CEll

A3 : Normal Skin
HH adl

A4 : Oily Skin
dr

TRADE THEORY
What to do after apply the face pack?

Ty U T & 915 F1 BT ANMRT?

Al : Laugh
'Yl

A2 : Smile

HRPRAT

A3 : Talk
dTd

A4 : Silent

w

TRADE THEORY

Good Posture does not depend on...

37T U () T IR 1R 7t et 82

Al : Standing

g g

A2 : Walking
ENEI

A3 : Sitting

A4 : Talking
§Td pRAT

TRADE THEORY

Which bleach is the mostused?

B T i, BT IGIT Yo SATET BTl 82

Al : Oil'Bleach
3T3d s

A2 : Cream Bleach

EaEic)

A3 : Liquid Bleach
difpe s

A4 : Powder Bleach
T3S s

TRADE THEORY
Where is the origin of threading?

IS BT Ind ol A g 32




43

44

45

46

43

44

45

46

Al : China

A2 : India
HRd

A3 : Russia
=

A4 : France
gt

TRADE THEORY

What does not come under skin analysis?

e favur & 3ia T et 3T 82

Al : Soap Test

e

A2 : Normal Paper Test

i TR T

A3 : Tissue Paper Test

Ry iR 2%

A4 : Use of Magnifying Lamp
T o T SXAHTS BT

TRADE THEGRY',

Which is not necessary to mix in manicure solution?

BterIR & Hirer & o1 R Saxas T8l 87

Al : Water

A2 : Ammonia

A3 : Shampoo

A4 : Dettol

TRADE THEORY

Whichtools is used to remove dead skin of foot?

R 71 g8 Fep 5o & fare o gt &1 wim 3

Al : Scraper

A2 : Pumice Stone

i @

A3 : Brush
ER

A4 : Hard Stone

GERSE]

TRADE THEORY

Which of these skin cleanses become dry and rough after washing?




47

48

49

47

48

49

T Y B T 9T 9 & 91 T 3R QR 81 el 82

Al : Oily Skin

3ifgel fepa

A2 : Combination Skin

A3 : Dry Skin

318 P

A4 : Sensitive Skin

What kind of face should not bleach?

5T TPR & 98 W i Tal B! TMRT?

Al : Normal
A2 : Oily
A3 : Dry

A4 : Sensitive

What is the method used to make eyebrows quickly?

TS 1 2Edr A S & forg T 81 aret fafr 82

A1l : Threading
A2 : Tweezing
A3 : Plucking

A4 : Waxing
afgd

How long after the bleaching result shows?

AT 1 Rolee fhd™ THT % U=aTd U Tadl 82

Al : 2-3 Minutes
23 e

A2 : 5 Minutes
5 fie

A3 : 7-8 Minutes
7-8 fie

A4 : 10-15 Minutes

10-15 e

TRADE THEORY

TRADE THEORY:

TRADE THEORY

TRADE THEORY

0.00




50

51

52

53

50

51

52

53

In which of the following methods the hair is extracted one by one?

A 4 @ o ) R 7 a1al 6 T6-Ueh B MepTar Sidl &2

Al : Tweezing
A2 : Bleaching
it

A3 : Waxing
A4 : Threading

TRADE THEORY

What can damage the client skin from the following?

e BT T Bl e o | 7T THaT UG Tball 82

Al : Dettol
A2 : Ammonia
A3 : Cream
A4 : Toner

_ARADETHEORY

How much should the amount of activator in the bleaching ¢ream bekept?

ST 1A H TacldeR 1 HI faber1 3! =feg?

Al : Much More

A2 : More
STl

A3 : Equal to the amount of cream

P P AT B-ETR

A4 : Less
H

TRADE THEORY

What is the compulsory to complete the process before using the Tweezers?

FISR BT TR 67 A Uge IS T1Y B Y ichar 9= a3 a1
Al : Sterilization

PleTy] A=A

A2: Bleaching

A3 : Cleaning

A4 : Threading

0.00

0.00




54

55

56

57

54

55

56

57

TRADE THEORY

What is the bleaching process used for?

et foran feraferg Tt &1 St g2

Al : Hair Removal

T g

A2 : To lighten the hair
Tl 1 Gl HIAT

A3 : Hair Cutting

BIR BT

A4 : Hair Colouring

W AT

TRADE THEORY

Which phase of development cycle is known as Growing Phase?

fapTa <Ich BT I 1 el TS Tl & 17 J ST STl 22

Al : Anagen Phase
TH B

A2 : Telogen Phase

AT T

A3 : Catagen Phase

A4 : Exogen Phase

T—EABE THEORY

How many layers of Shaft are there?

RMBE B bt TRl Bl 87

Al : Two
A2 : Three

A3 : Fout
IR

A4 : Five
U

TRADE THEORY

In which direction thread should be moved while doing threading?

AfET B T IS DI It o & T

Al : In any direction

Tt oft fomm &

A2 : In the direction of growth

et 1 gl b1 G

A3 : According to Client
FAEE & AR

0.00




58

59

60

61

58

59

60

61

A4 : Opposite direction of hair growth

el 1 gf 1 a2 & fawdia

In which direction of tweezing?

AT O o & Y o &2

Al : In the direction of growth

Je e A

A2 : In any direction

Tt oft fomm &

A3 : Opposite direction of hair growth

gig 1 fawia femn

A4 : According to Client
FAEE & AR

How many types of Eyebrow Shaping?

3TSs AT = UPpR & il &2

A4:10
10

What are the types of Tweezers?

SFroR Rhe TPR F 8 27

Al : Two

A2 : Three

A3 Four
IR

A4 : Five

LIES

What are the types of Bleach?

=i fpd TeR &) gt 2

Al : Two

aq

A2 : Three

A3 : Four
IR

TRADE THEORY

TRADE THEORY

“TRADE THEORY

TRADE THEORY

0.00

0.00




62

63

64

65

62

63

64

65

A4 : Five

TRADE THEORY
Which shape of nails are best? 1.0 0.00

ARG P B T NPT FaTeH gt 82

Al : Square Shape
HHR

A2 : Oval Shape
3USTHR

A3 : Round Shape

A4 : Arched Shape

TRADE THEORY

Which process is used to increase feet beauty? 1.0 0.00

R &) Gex el B IgH & forg HH H wfehan wge &1 St 82

Al : Manicure

A2 : Pedicure

A3 : Facial

A4 : Foot Massage
T {HAN

TRADE THEORY

What words are derived from Mani€ure and Pedicure? 1.0 0.00

Fheik vd TSk wreg g HTwT AferT TTw &2

Al : French

A2 : Greek

A3 : Indian

A4 : Latin

TRADE THEORY

How much time is required for allergy testing? 1.0 0.00

TSI ¢ R & e TH ST U et 82

Al : 6-12 Hours
6-12 90

A2 :12-18 Hours

12-18 G0




66

67

68

69

66

67

68

69

A3 : 18-24 Hours

18-24 GO

A4 : 24-28 Hours

24-48 GUS

TRADE THEORY

Which layer is not present in hair?

1S P DI AR el 2

Al : Cortex

A2 : Medulla

A3 : Cuticle

A4 : Hair Shaft
TR T

TRADE THEORY
Which is the right place for patch testing?

U T B BT TG F B 182

Al : Behind the ear

EIEE I

A2 : Cheeks
T

A3 : Forearm

ElEAEI

A4 : Elbow

TRADE THEORY

Which wax should be used oniface?

I R B G Jog AL AR

Al : Hot Wax
BIC

A2 : Cold,Wax
Hles 999

A3 : Chocolate Wax

fbdle 999

A4 : Honey Wax

TRADE THEORY
Which layer of hair provide safety?

A B D U AR GRET T AT 82

Al : Cuticle

0.00

0.00

0.00




70

71

72

73

70

71

72

73

A2 : Cortex
A3 : Medulla

A4 : Hair Shaft
TR Ahe

TRADE THEORY
What are the types of Manicure?

iR i TR S BId 82

Al : Three

A2 : Four

A3 : Five

A4 : Six

TRADE THEORY
What we apply after nail polish?

T UifereT & ST o1 T 82

Al : Top Coat
ek

A2 : Base Coat

EREI

A3 : Nail Paint

A4 : Nail Bleach

ECEES

"R ¢ TRADE THEORY
What we apply.before nail polish?

A UTRrI e AU T I 72

Al : Nail'Strengthener

AT TR

P

A2 : Base Coat

EREI

A3 : Nail Bleach

A4 : Top Coat
HEEI

TRADE THEORY

What is not a nail disease in below mentioned options?

A Y oH o1 39 i 7t &2




74

75

76

77

74

75

76

77

A1l : Onycholysis
A2 : Onychophagy
Siifreprthift

A3 : Onychomycosis

A4 : Onychocryptosis
SIIECaIEAIRR]

TRADE THEORY

Which is the nail disorder mentioned in below options?

[EEEGERIESEISEI KIS

Al : Hypertrophy Nail

X

A2: Ongchomycosis

A3 : Nail Pitting

A4 : Paronychia

TRADE THEQRY',

What kind of treatment we should not conduct in parlour?

TreR H foh gl SU=IR Tl BT Nee?

Al : Blue Nail

A

A2 : Hypertrophy

X

A3 : Brittle Nail

foea A

A4 : Paronychia

What1s the Value of 21 + 496 + 16 =2

21 + 4964 16 T M S50

Al:51
51

A2:52
52

A3:53
53

A4 :54
54

What is the value of 3232 + 4848 - 4242 =?

3232 + 4848 - 4242 BT H STAISY

NUMERICAL ABILITY AND REASONING

NUMERICAL ABILITY AND REASONING

0.00




78

79

80

81

78

79

80

81

Al:3535
3535

A2:3636
3636

A3:3737
3737

A4 : 3838
3838

NUMERICAL ABILITY AND REASONING
What is the value of (26 x 22) + (27 x 9)?

(26 x 22) + (27 x 9) T HH SR

Al:815
815

A2:816
816

A3:817
817

A4 :818
818

NUMERICAL ABILITY AND REASONING
What is the value of (3440 + 16) x (286 + 13)?

(3440 + 16) x (286 + 13) BT AMF I3

Al:4720
4720

A2:4730
4730

A3 : 4740
4740

A4 : 4750
4750

NUMERICAL ABILITY AND REASONING

Doctor is related to patient in same way teacher is related to.....

ST TR & T § I e e g g

Al : Education

A2 : Hospital
SESGIN]

A3 : Student
forameft
A4 : School

NUMERICAL ABILITY AND REASONING

Tailor is related to pant in same way cobbler is related to.....

TR T § U O S o A el @

0.00




82

83

84

85

82

83

84

85

Al : Cloth

A2 : Leather
gHST

A3 : Shoes
A4 : Shop

NUMERICAL ABILITY AND REASONING
What is the value of (6650 + 50) x (169 = 13) =? 1.0

(6650 = 50) x (169 + 13) = T HIT FT 82

Al1:1723
1723

A2:1725
1725

A3:1727
1727

A4:1729
1729

NUMERICAL ABILITY AND REASONING
What is the least number to be added to 5328 to make it a perfect square? 1.0

5328 B HH Y HH T SisT oY & g guf avf &= STe

- W NUMERICAL ABILITY AND REASONING
What'is the average weight of all the 6 boys, If the body weight of 6 boys recorded as 21Kg, 27Kg, 33Kg, 40Kg, 47Kg and 54Kg? 1.0

3R 6 ASIHaT BT a0 HH; 21Kg, 27Kg, 33Kg, 40Kg, 47Kg, 54Kg 3R 68Kg & T 37T SId aoi 1 g

Al :36Kg
36 Kg

A2:37Kg
37Kg

A3:38Kg
38Kg

A4:39Kg
39Kg

NUMERICAL ABILITY AND REASONING
Mr.Ganesh purchased Fridge for Rs 32,000 and sold it to Rs 40,000 what is the profit percentage? 1.0

off TTOIRT A Fridge ¥ 32,000 H WG R ¥ 40,000 H T off ATY U= qA8d

0.00




86

87

88

89

86

87

88

89

Al :10%
10%

A2:15%
15%

A3:20%
20%

Ad:25%
25%

NUMERICAL ABILITY AND REASONING

What would be the simple interest obtained an amount of Rs 6000 at the rate of 12% annum at the end of 2 years? 1.0

T 6000 DT 12% ATVD &R F 2 T8 BT JIYRU] S TS

Al :Rs 2160 I
Rs 2160

A2:Rs 2170
Rs 2170

A3 :Rs 2180
Rs 2180

A4 :Rs 2190
Rs 2190

NUMERICAL ABILITY AND REASONING
An almirah is sold at Rs 6204 after allowing a discount of 6%. Find itsfmatked price? 1.0

T 3R] B 6% STHISC & TG 6204 T T o1 T $US] RAFSqH (MRP) TSy

Al : Rs 6500
Rs 6500

A2 : Rs 6600
Rs 6600

A3 :Rs 6700
Rs 6700

A4 : Rs 6800
Rs 6800

NUMERICAL ABILITY AND REASONING

Ram deposited Rs:"9000 with a finance company for 2 years at an compound interest of 10% per annum. What is the amount that 1.0
ram gets after 2 years?

I AT.9000 TP BT BT & I 2 T8 P 10% I &R T STHT BRI 2 a9 IR Fshaei ST Farsd

Al :Rs 10,830
Rs 10,830

A2 :Rs 10,850
Rs 10,850

A3 :Rs 10,870
Rs 10,870

A4 :Rs 10,890
Rs 10,890

NUMERICAL ABILITY AND REASONING

30 men can complete of a piece of work in 20 days. How many more men must be required to complete the work in 15 days? 1.0

30 3MTEH T BT 20 fo B R Jabd B 1 I HTH B 15 737 A g0 3 & o fray sret ofik @ uday

0.00




90

91

92

93

90

91

92

93

A4:10

NUMERICAL ABILITY AND REASONING

What distance does he travel everyday, If a person runs 9 km in 30 days?

3R T AR IR TTg § 9 Km AT & o Ufafe framt gt au dxar g

Al :300 m
300 m

A2:310m
310 m

A3:320m
320 m

A4 :330m
330 m

NUMERICAL ABILITY éND—;Eé_EONTﬁ_G
What is the value of 1971 +91 x 15 ?

1971 + 91 x 15 BT HF T 8?

Al :3335
3335

A2 :3336
3336

A3:3337
3337

A4 :3338
3338

NUMERICAL ABILITY AND REASONING

Whatis the area of square, If the perimeter of square is 536 cms?

SR fhatat &1 uftaTy 536 V.. B 9 3BT ATB T BN

Al : 17936 cm?
17936 cm?

A2 : 17946 cm?
17946 cm?

A3 : 17956 cm?
17956 cm?

A4 : 17966 cm?
17966 cm?

NUMERICAL ABILITY AND REASONING

24 men can complete a piece of work in 12 days in how many days will 36 men complete the same work?

0.00




94

95

96

94

95

96

24 3 T B BT 12 37 & R R bl 7, I B &1 36 3MeH! fram fo A qrr vy

Al : 8 days
g fa

A2 :9 days
9gfeT

A3 :10 days
10 f&

A4 : 11 days

1 e

NUMERICAL ABILITY AND REASONING

What is the speed of a train, If it covers a distance of 180 Km between two stations in 22 hours?

3R P15 o 180 5 Y. B gt 214 9 T 1 R 07 FA & A STP! I Ty

Al : 70 Km/hr
70 Km/hr

A2 : 72 Km/hr
72 Km/hr

A3 : 74 Km/hr
74 Km/hr

A4 : 76 Km/hr
76 Km/hr

NUMERICAL ABILITY ANDREASONING
What is the value of 91 + 416/8?

91 +416/8 BITHF TR ?

Al:123
123

A2:133
133

A3:143
143

A4:153
153

NUMERICAL ABILITY AND REASONING

Flower is related to Rose in the same way as vegetable is related to...

BT TR § S 9 Teol WEd §

Al : Apple

A2 : Carrot

A3 : Root
s

A4 : Stem
GEl

NUMERICAL ABILITY AND REASONING

0.00




97

98

99

100

97

98

99

100

What is the cost of 8 Kg of Apples, If the cost of 4 Kg of apples are Rs 500? 1.0

4TH T AT H I %, 500 A1 8 7. 71, T4 F1 e Iagd

Al :Rs 700
Rs 700

A2 :Rs 800
Rs 800

A3 :Rs 900
Rs 900

A4 : Rs. 1000
Rs. 1000

NUMERICAL ABILITY AND REASONING

What is the total number of books in the book shop. If 35% books are in Tamil, 45% books are in English and the remaining 160 Y
books are in other languages?

Tt gaT T 35% fopaTel aftrel A 7, 45% fopamel SRS B & SR W 100 frare gEsd wrwish 7 & o oot foamel &1 ge

Al:300
300

A2 :400
400

A3:500
500

A4 : 600
600

NUMERIGAL ABILITY AND REASONING
25% of a number is 500. What is 50% of that number? 1.0

3R ot T BT 25% = 500 & 1 I TAHLDI50% FTE I

Al:850
850

A2:900
900

A3:950
950

A4 1000
1000

NUMERICAL ABILITY AND REASONING
What should come next in the alphabetical serics ACFHK M PR U W? 1.0

3T 3f&R WRIST A C FH K M PR U W 3Tl 37&R 01 RT?

0.00

0.00




Cosmetology

.No. Correct Answer Key S.No. Correct Answer Key
1 A3 51 A2
2 A1 52 A4
3 A1 53 A1
4 A4 54 A2
5 A2 55 A1
6 A1 56 A2
7 A2 57 A4
8 A3 58 A1
9 A2 59 A3
10 A2 60 A1
11 A1 61 A3
12 A3 62 A2
13 A2 63 A2
14 A3 64 A4
15 A2 65 A4
16 A2 66 A4
17 A4 67 A1l
18 A2 68 A1
19 A2 69 A1

20 A1 70 A3

21 A4 71 A1

22 A3 72 A2

23 A4 73 A2

24 A2 74 A1

25 A2 75 A4

26 A1l 76 A2

27 A3 77 A4

28 A4 78 A1

29 A2 79 A2
30 A1 80 A3

31 A3 81 A3

32 A3 82 A4

33 A4 83 A4

34 A2 84 A2

35 A3 85 Ad

36 A4 86 A1

37 A3 87 A2

38 A2 88 A4

39 Ad 89 A4

40 A4 90 A1

41 A2 91 A2

42 A1 92 A3

43 A2 93 A1

44 A4 94 A2

45 A1 95 A3

46 A4 96 A2

47 A4 97 A4

48 A1 98 A3

49 A4 99 A4
50 Ad 100 A4






